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1. Simplify the following, leaving your answer in index form:

a) 6’ 6°= b)5° " 5 = 02 2=

d)y 7t 7°= 69 9= f)g 8=
2: Simplify the following, leaving your answer in index form:

a) 4, 4°= b) 102 10°= Q)3 3=

d) 9, &= e) 2% 29= f)ge 8=
3. Simplify the following, leaving your answer in index form:

3 (5)' = b) (69)° = 0) (49)° =

d) (3)°= e) (10°%)* = f) (7 =
4. Simplify the following, leaving your answer in index form:

a9, 9°= b) (2°)° = c) 8 8=

d) (6°)*= g3 3F= f) 420 42 =
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Answers: Laws of I ndices
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1 a6 b) 5% c) 2'° d) 7% &) 9° ) &
2 a4 b) 10° ¢) 3V d) o° e) 22 ) &
3 85" b) 6v 0) 42 d) 3° &) 10% f) 77°
4: a9 b) 2% c) 8 d) 6% e) 3° f) 4
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